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RDEIZkgBEATERLIL LD,

(1) lkg 9189 = Kg (6) 4kg 275g = Kg
(2) 479 = kg (7) 89 = kg
(3) bkg 242g = kg (8) lkg 980g = kg
(4) 8kg 36hg = kg (9) 30lg = kg
(5) Ikg Ig = kg (10) 634g = Kg
RODEIZmBEMATERLEL LD,

(1) Im 26cm = m (6) 6m |5cm = m
(2) Tm 78cm = m (7) Im 84cm = m
(3) 2cm = m (8) T3cm = m
(4) 42cm = m (@) 10m 7lem = m
(5) 50cm = m (10) 2m 45cm = m
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RDEIZkgBEMUTELI L L I,

(1) lkg 9189 = 1.918 kg (6) 4kg 2759 = 4,275 kg
(2) 479 = 0.047 kg (7) 89 = 0.008 kg
(3) 5kg 2429 = 5.242 kg (8) lkg 980g = .98 kg
(4) 8kg 366g = 8.365 kg (99 30lg = 0.301 kg
(5) |kg Ilg = [.001 kg (10) 634g = 0.634 kg
RODEIZmBEMATERLEL LD,

(1) Im26cm = 1.26 m (6) 6m I5cm = 6.15 m
(2) Tm 78cm = 7.78 m (7 Im 8cm = 1.8 m
3 2cm = 0.02 m (8 73cm = 0.73 m
(4)  42cm = 0.42 m (@) 10m 7lem = 10.71 m
(5) 50cm = 0.5 m (10) 2m 45¢cm = 2.45 m
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